I
DS1 700

Technical
Reference Manual

HUNTRON
A



HUNTRON INSTRUMENTS, INC.

DSI 700

TECHNICAL REFERENCE
MANUAL

September, 1994
P/N 21-1244

© Huntron Instruments, Inc. 1994.  All rights reserved.

Huntron and Tracker are registered trademarks of Huntron Instruments, Inc. IBM, IBM PC, PC
AT, PC/XT, Personal System/2, Micro Channel, and PC-DOS are registered trademarks of
International Business Machines Corp. MS-DOS is a registered trademark of Microsoft
Corporation.

This document may not be copied in whole or in part, or otherwise reproduced except as
specifically permitted under U.S. copyright law, without the prior written consent of Huntron
Instruments, Inc., 15720 Mill Creek Blvd., Mill Creek, WA 98012-9980 USA.



HUNTRON INSTRUMENTS, INC.
LIMITED WARRANTY

Huntron Instruments, Inc. believes in the quality of its products. Accordingly, Huntron provides the following
non-transferable warranties for the benefit of the original end-use purchaser of the Huntron
DSI 700 instrument.

Huntron warrants that the Huntron DSI 700 hardware shall be free from defects in material and workmanship for one
(1) year from the date of purchase.

Huntron warrants that the diskette(s) containing the Huntron DSI 700 software shall be free from defects in material
and workmanship for one (1) year from the date of purchase. Huntron further warrants that the Huntron DSI 700
software will perform in substantial conformance with the system specifications of the Huntron DSI 700 at the time
of purchase and for the period of one (1) year thereafter.

The above warranties are in lieu of all other warranties, express or implied, including all warranties of
merchantability and/or fitness for a particular purpose. Huntron’s liability under these warranties, including any
damages sustained by the customer through malfunction or failure of the Huntron software, shall not exceed the
amount of the purchase price of the Huntron DSI 700, regardless of the extent of any such damage, including any
special, consequential, or incidental damages of any kind.

These warranties shall only apply to products in ordinary use. Huntron shall have no obligation under these
warranties with respect to damage caused by accident, transportation, neglect, misuse, unauthorized alterations or
repair, improper installation, or operating conditions.

Products purchased in the United States are to be returned to Huntron Instruments, Inc. at its factory, transportation
prepaid. Products purchased outside the United States are to be returned to the source of purchase for Warranty
Tepair.

Written notice of, and an explanation of the circumstances of, any defect believed to be covered by this agreement
shall be provided promptly to Huntron by the customer following discovery of the defect. In satisfaction of its
warranty liability, Huntron agrees to take reasonable and prompt action to correct the defect, either by repair or
replacement, at its option.

LICENSE

Huntron hereby grants the customer a non-transferable, non-exclusive license to use the Huntron DSI 700 software
provided with the Huntron DSI 700 instrument. The license is perpetual as long as the customer abides by the terms

and conditions of this agreement. The purchase price of the Huntron DSI 700 instrument includes the fee for the
license set forth herein.

The Huntron software may be used only with one particular Huntron DSI 700 instrament which it accompanies at
the time of purchase and may not be used with any other Huntron DSI 700 instrument, without the written
permission of Huntron. The customer shall not, without the specific written consent of Huntron, copy, in whole or in
part, the Huntron software for any purpose, except to make one copy for backup purposes.

The customer shall not remove or obscure any copyright notice or notices included on or as part of the Huntron
software.

The customer shall not recompile, decompile, disassemble or modify the Huntron software in any way, nor produce
any denivative work thereof.



CONTACTING HUNTRON

For technical support or to obtain information about service, accessories, and other products
contact:

Huntron Instruments, Inc.
15720 Mill Creek Blvd., Suite 100
Mill Creek, WA 98012
USA
In North America, Call (800) 426-9265 or (425) 743-3171.

Huntron is also accessible by:

o FAX: (425) 743-1360
¢ Internet E-mail: huntron@huntron.com
» Internet Home Page: http:\\www.huntron.com

Qutside North America, call your local distributor for assistance or service.



Table of Contents

CHAPTER 1 INTRODUCTION AND SPECIFICATIONS

INTRODUCTION . . . . . . . 1-1
SPECIFICATIONS . . . . . . e s s s 1-2
SAFETY CONSIDERATIONS . . . . . .. . ... o .. 1-3
SECTION 2 MAINTENANCE
INTRODUCTION . . . . . . . 2-1
SERVICE INFORMATION . . . . . ... . . ... ... ... 2-1
CMOS HANDLING PRECAUTIONS . . . . . .. .. .. . ... ... ... 2-2
DISASSEMBLY PROCEDURES . . . . . . . ... ... .. .. .. .... 2-2
Case TopRemoval: . . . . .. ... ... . ... .. .. . ........ 2-2
Intefface PCARemoval: . . . . . .. . . . ... ... ... ... 2-4
Main PCARemoval: . . . . . .. ... 2-6
Scanner PCA and Front Control Assembly Removal: . . . . . .. .. .. 2-8
Front Control PCARemoval: . . . . . . . . .. . . ... ... ..... 2-10
Front Control LCDRemoval: . . . . . . . . .. ... ... ... ... 2-10
REASSEMBLY PROCEDURE . . . . . . . . ... .. ... ... ... 2-12
JUMPER SETTINGS . . . . . . . o 2-12
SECTION 3 LIST OF REPLACEABLE PARTS
INTRODUCTION . . . . . . s s 3-1
HOW TO OBTAIN PARTS . . . . . . . . . 3-1
SECTION 4 SCHEMATIC DIAGRAMS
SCHEMATICS . . . . . . 4-1

TECHNICAL REFERENCE MANUAL i



List of lllustrations

Figure Description Page
1-1. HuntronDSI700. . . . . . . .. . ... ... 1-1
2-1. CaseTopRemoval. . . . .. ... .. ... ... ... .. ... ....... 2-3
2-2. Interface PCARemoval. . . . . . . . ... ... .. ... . ... ... ... 2-5
2-3. MainPCARemoval. . . .. ... .. ... ... ... ..., ... 2-7
24, Scanner PCA & Front Control Assembly Removal. . . . . .. .. ... . . 29
2-5. Front Control Assembly Disassembly. . . . . . .. .. .. .. ... .. .. 2-11
4-1. Interface PCB Component Locations. . . . . . . ... ... .. ... ... ... 4-2
4-2. Interface PCB Schematic. . . . . .. .. .. ... ... .. .. ..... ... 4-3
4-3. Main PCB Component Locations. . . . . . . ... .. ... ... .. .... 44
4-4, Main PCB Schematic (Sheet 10f2). . . . . .. . .. ... ... .. .. ... 4-5
4-5, Main PCB Schematic (Sheet20f2). . . . ... ... .. . ... ... .... 4-6
4-6. Scanner PCB Component Locations. . . . . .. ... ... ... ....... 4-7
4-7. Scanner PCB Schematic. . . . . .. . ... ... ... ............ 4-8
4-8. Front Control PCB Component Locations. . . . . . .. .. ....... ... 49
4-9, Front Control PCB Schematic. . . . ... . ... ........ .. .. .. 4-10
4-10. DSI 700 to PC Interface Cable Diagram. . . . . . . .. ... ... . . ... 4-11
List of Tables
Table " Description Page
1-1. DSI 700 Specifications . . . . . .. .. .. .. ... ... ... ... 1-2

HUNTRON DSI 700



CHAPTER 1
INTRODUCTION AND SPECIFICATIONS

1-1. INTRODUCTION

The Huntron DSI 700 has been designed as a compatible accessory for the Huntron Tracker
2000. Together, they create an effective component troubleshooting system. Working with the
Tracker 2000, the DSI 700 allows faster troubleshooting of components with the use of
automatic signature comparison which points out differences in analog signatures. When the
DSI 700 is connected to an IBM compatible PC, it becomes a digital storage interface for the

Tracker 2000. Analog signatures can be digitized and stored in the PC as a reference database
for troubleshooting,

SN ONE
[ eauivacent D’ D D
N « U

a8 00 s 5 5.0
e m e =©®©O0 OO O

Q000000000000 0O0O00
0000000000000 00OO0O

A B

Figure 1-1. Huntron DSI 700

TECHNICAL REFERENCE MANUAL 1-



INTRODUCTION AND SPECIFICATIONS

1-2. SPECIFICATIONS

Table 1-1
DSI 700 Specifications

ELECTRICAL
Interconnections:
Discrete Components

Channel A, B, and COM front panel jacks are provided for use with probes.

Number of TestPins . . . . ... ... ... .. . 64(maximum)
Number of Channels . . . . ... ... ... ... 2
Connectors:
(2) 64 pin IDC (for devices of 64 pins or less)
Display:
16 character x 2 lines LCD with LED Backlight
Input Voltage:
+ 12 VDC (supplied by the Tracker 2000)
Interface:
IBM-PC parallel port
ENVIRONMENTAL
Operating Temperature: . . . . . .. .. ... ... 15°C t0 30° C (+59° F to +86° F)
Storage Temperature: . . . . . . .. ... ... .. -20° C t0 60° C (-4° F to 140° F)
Humidity: . . ... ... ... ... . . ...... 0to S0% R.H.
MECHANICAL
Size: . . . ... 9"Wx4"Hx 11"D
(23cm W x 10cm H x 28cm D)
Weight: . . ... ... ... 4.0 1bs (1.8kg)
Shock and Vibration . . .. ... ... .. .. .. will withstand shock and vibration |
encountered in commercial shipping
and handling.

1-2 HUNTRON DSI 700



INTRODUCTION AND SPECIFICATIONS

1-3. SAFETY CONSIDERATIONS

This manual contains information, cautions, and warnings the user must follow to ensure safe
operation, and to keep the instrument in safe condition.

WARNING

A warning denotes a hazard. It calls attention to a
procedure or practice which, if not correctly performed
or adhered to, could result in personal injury.

CAUTION

A caution also denotes a hazard. It calls attentionto a
procedure or practice which, if not correctly performed
or adhered to, could result in damage to or destruction
of part or all of the instrument.

TECHNICAL REFERENCE MANUAL 1-3



INTRODUCTION AND SPECIFICATIONS

Notes:

1.4 HUNTRON DSI 700



SECTION 2
MAINTENANCE

WARNING

These service instructions are for use by qualified service
personnel only. To avoid electric shock, do not perform
any procedures in this section unless you are technically
qualified to do so.

2-1. INTRODUCTION
This section presents disassembly and assembly instructions for the DSI 700.

2-2. SERVICE INFORMATION

The conditions of the DSI 700 warranty are given at the front of this manual. Malfunctions that
occur within the limits of the warranty will be corrected at no cost to the purchaser exclusive of
one-way shipping costs to Huntron Instruments, Inc. Huntron service is also available for
calibration and/or repair of instruments that are beyond the warranty period. In either case,
please describe clearly the problems encountered with the instruments.

For in-warranty or out of warranty factory service in the United States, call (toll-free)
800-426-9265 and receive an RMA number and shipping instructions prior to shipment. This
number must be clearly displayed on the exterior of the shipping carton. Only parcels displaying
an RMA number will be accepted. For in-warranty or out of warranty service outside the United
States, contact the distributor you purchased the unit from.

When packaging the unit for shipment, use the original shipping container to provide protection
during transit. If the original container isn’t available, package the unit in a box with a minimum
of two inches (5cm) of cushioning material on all sides.

TECHNICAL REFERENCE MANUAL 2-1



MAINTENANCE

2-3. CMOS HANDLING PRECAUTIONS

CAUTION

This instrument contains CMOS components which can
be damaged by static discharge.

To prevent damage, take the following precautions when troubleshooting and/or repairing the
instrument:

Perform all work at a static-free work station.

Do not handle components or PCB assemblies by their connectors.

Wear static ground straps.

Remove all plastic, vinyl and styrofoam from the work area.

Use a grounded, temperature-regulated soldering iron.

2-4. DISASSEMBLY PROCEDURES

WARNING

To avoid electric shock, remove the Power/Clock cable
and any test leads before disassembling the instrument.

The following paragraphs present disassembly procedures for the DSI 700. The procedures
should be performed in the order presented.

Remove the case top first, then the Interface PCA, Main PCA and then the Front Control and the
Scanner PCA at the same time.

Case Top Removal:
Refer to Figure 2-1.

1. Tum the unit over and place on a flat surface. Remove the four screws (1. MP11) from the
case bottom.

2. While holding both the case top and the bottom, turn the unit right side up. Remove the case
top (1.MP1) by sliding it straight up from the case bottom.

3. Remove the case handle (1.MP3) from the case bottom.

4. Remove the four case spacers (1.MP4).

2-2 HUNTRON DSI 700



MAINTENANCE

SMOOTH SIDE OF HANOLE FATING LP WHEN

HANDLE 1S 1IN FRONT OF UNET.

> (1 puace)

NOTES : uniess oTHERWISE SPECIFIED

-
T.
%>
-5

14915
orY 4
1. MNP
oty 4

a
]
1
e
3
a
2
<
3
2
=
3

(REF)

Figure 2-1. Case Top Removal.

TECHNICAL REFERENCE MANUAL



MAINTENANCE

Interface PCA Removal:

Refer to Figure 2-2.

1. Disconnect the Front Control Ribbon Cable from J1 on the Interface PCA (1.A3).
2. Disconnect the LCD interface ribbon cable from J2 on the Interface PCA (1.A3).
3. Remove the five screws (1.MP12) from the Interface PCA (1.A3).

4. Lift the Interface PCA (1.A3) straight up.

2-4 HUNTRON DS 700



MAINTENANCE

| .MP12

Figure 2-2. Interface PCA Removal.

TECHNICAL REFERENCE MANUAL



MAINTENANCE

Main PCA Removal:
Refer to Figure 2-3.
1. Disconnect the 2 pin connector from J7 on the Main PCA.

2. Remove the 6 screws (1.MP12) from the Main PCA. Do not remove the screw that is
labeled "Do Not Remove" next to J4. This screw holds the trim plate in place.

3. Lift the Main PCA straight up.

2-6 HUNTRON DS! 700



MAINTENANCE

'NMOHS SV .09, Ot
(2611-£0) 13%20S Nid Z 30v1d

(3ov1d 1) {3

SMIUIS ONINILIHOLL

340438 83d NIwA 3H1 40 3003 3HL
ISNIVOV HSOT4 SI 11 LIVHL 34NS Iwwt
31vid Widl ONITTIVASNE N3IHM

(3dv1d 1) <

G313133dS 3SIMYIHLO SSIINO mm..—.oz

v 11v.13d

09[od o|os

rdr

v

8dN |

ZidN" I

¥ 71vL3g 33S
2611-40 N/d
-NId 2 1330S

‘8diN’L
Buirowas ale nok ssajun
‘M90S SIY} dA0WAI JOU 0

Figure 2-3. Main PCA Removal.

TECHNICAL REFERENCE MANUAL



MAINTENANCE

Scanner PCA and Front Control Assembly Removal:

Refer to Figure 24

1.

2.

Remove the Ground Wire Assembly from the Heat Sink (see Figure 2-4, detail A).

Disconnect the two pin connector from J5 on the Scanner PCA (1.A2).

. Remove the four screws (1.MP12) from the Scanner PCA (1.A2).

Lift the Scanner PCA (1.A2) and the Front Control Assembly (1.A1) up at the same time.
When both assemblies have cleared the case bottom, slide the Front Control Assembly
(1.A1) away from the Scanner PCA (1.A2).

-8 HUNTRON DSI 700



MAINTENANCE

Q
=
[=] O§
E i’gm
[ [=3
- > we
© - -«
w 2%,
& 582
2%
H 223
H w29
& sx<
o ZTwao
z w o
5 %5“(
¢ pfs¥z
u (=] <
z S.sif
> ms;mn
- Z§Esz
wn
I~ Y] 8
%
- =
> 5 >
] g =z
w >
@ >
2 83
@ #,%
o
a 2(.:
o [
<% &z
zZz -3
wg aY
% §§ = 2
3% Qg H &

A

TAL

AZ

I AN
Figure 2-4. Scanner PCA & Front Control Assembly Removal.

TECHNICAL REFERENCE MANUAL 2-9



MAINTENANCE

Front Control PCA Removal:
Refer to Figure 2-5.
1. Cut the two wire ties (1.A1.MP10) holding the wires to the Front Control PCA (1.A1.Al).

2. Remove the seven screws (1.A1.MP9) holding the Front Control PCA (1 .Al.Al) to the Front
Control Assembly.

3. Lift the Front Control PCA (1.A1.A1) away from the Front Control Assembly.

Front Control LCD Removal:
Refer to Figure 2-5.

1. Remove the four screws (Part of 1.A1.MP2) that hold the LCD (1.A1.MP11) and Bezel
(1.A1.MP1) to the Front Control Assembly.

2-10 HUNTRON DS 700



MAINTENANCE

o
<
<
~
2 z
< <
w -
[}
2 T :
wa o
T <>
uakE
n ~ O

[.AL.MPII

PIN 41

7
: jg\:/

o
=
<

1. AL.MP3

1. Al .MP6
1.AY MP7

Figure 2-5. Front Control Assembly Disassembily.

TECHNICAL REFERENCE MANUAL 2-1



MAINTENANCE

2-5. REASSEMBLY PROCEDURE

To reassemble the DSI 700, reverse the order in which you disassembled it.

2-6. JUMPER SETTINGS

The following describes the function of the jumpers on the Main PCA.

JP1  Selects between a 256Kbyte or a 512Kbyte EPROM.

JP2  Selects RAM memory type.

JP3  Selects RAM memory type.

JP4  Selects DSI 700 50 Hz or 60 Hz operation.

2-12 HUNTRON DSI 700



SECTION 3
LIST OF REPLACEABLE PARTS

3-1. INTRODUCTION

This section contains the parts list for the DSI 700. The components of each assembly are listed
alphanumerically by reference designation. Both electrical and mechanical components are
listed by reference designation, and can be referenced to illustrations and schematics.

Part lists include the following information:
1. Reference Designation (Ref. Des.)

2. Description of each part (Description)
3. Huntron Part Number (Huntron P/N)

Numbers in parenthesis following the description refer to the total quantity of the part for that
assembly.

3-2. HOW TO OBTAIN PARTS

Components may be ordered directly from a manufacturer by using the part description, or from
Huntron Instruments, Inc. or its authorized distributors by using the HUNTRON PART
NUMBER. In the event the part you order has been replaced by a new part, the replacement will
be accompanied by an explanatory note and installation instructions if neccessary.

To ensure prompt and efficient handling of your order, please include the following information:

1. Quantity

2. Huntron Part Number

3. Part Description

4. Reference Designation

5. Printed Circuit Board Part Number and Revision Level
6. Instrument Model and Serial Number

CAUTION

Devices indicated by an asterisk {*) in the list of
replaceable parts are subject to damage by static
discharge.

TECHNICAL REFERENCE MANUAL 31



LIST OF REPLACEABLE PARTS

Final Assembly
Ref. Des. Description Huntron
P/N
1 * Final Assembly (All Models)
2 * Final Assembly 60Hz (Only)
3 * Final Assembly 50Hz (Only)
4 * Final Assembly 50-60Hz Combination (Only)
1Al * Front Control Assembly 06-1092
1.A2 * Scanner PCB Assembly 06-3063
1.A3 * Interface PCB Assembly 06-3072
1.A4 *Main PCB Assembly (Reference Only See 4.A4)
2.A4 *Main PCB Assembly 60Hz Superceded to 06-3074 (4.A4)
3.A4 *Main PCB Assembly 50Hz Superceded to 06-3074 (4.A4)
4 A4 *Main PCB Assembly 50-60Hz Comb. 06-3074
1. MP1 Top 01-1155
1.MP2 Bottom 01-1156
1.MP3 Handle 01-1157
1.MP4 Spacer (4) 01-1158
1.MP5 Label, "COMPUTER" 01-2054
1L.MP6 Label, "POWER" 01-2341
1.MP7 Label, "FOOT SWITCH" 01-2343
1.MP8 Trim Plate 01-3045
1.MP9 Rubber Foot, .5"x.5"x.23"(2) 07-2073
1.MP10 Washer, #4 Lock Star 07-3020
1.MP11 Screw 6-32 x 3" Ph Phil (4) 07-3049
1.MP12 Screw 4-40 x 3/8" Ph Phil W/Washer (16)  07-3051
1.MP13 Nut, 4-40 Hex 07-3052
1.MP14 Washer, #6 Flat (4) 07-3055
1.MP15 Washer, #6 Lock Split (4) 07-3066
Front Control Assembly
Ref. Des. Description Huntron
P/N
1Al *Front Control Assembly 06-1092
1.Al1.Al *Control PCB Assembly 06-3062
1.A1.A2 Cable, Flexible 16 Pin 06-4028
1.A1.A3 Hamess, Control PCB 06-4037
1.A1.A4 Hamess, Front Control 06-4063
1.A1.A5 Ground Wire Assembly 06-4066
3-2 HUNTRON DSI 700



LIST OF REPLACEABLE PARTS

Front Control Assembly Cont.

Ref. Des. Description Huntron
P/N
1. A1.MP1 Bezel Black Kit 01-1130
1.LA1L.MP2 Spacer, Bezel, LCD (2) 01-1178
1.A1.MP3 Overlay 01-2034
1.A1.MP4 Face Plate 01-3044
1.A1.MP5 Jack, Banana, Red W/Hex Nut (2) 07-1147
1.A1.MPé6 Jack, Banana, Black W/Hex Nut (2) 07-1148
1. A1.MP7 Jack, Banana, Yellow W/Hex Nut 07-1149
1.A1.MP8 Washer, #4 Lock Star 07-3020
1.A1.MP9 Screw, 4-40 x 1/4" Ph Phil W/Washer (7)  07-3050
1.A1.MP10 Cable Tie, 4" (2) 07-3089
1.A1.MP11 Display, LCD 07-4050
Control PCB Assembly
Ref. Des. Description Huntron
P/N
1.A1.Al *Control PCB Assembly 06-3062
1.A1.A1.C1  Cap, .01uF 50V Mono Ceramic 03-3051
1.A1.A1.C2  Cap, .1uF 50V Mono Ceramic 03-3028
1.A1.A1.D1  Diode, Switch 100V 75ma 04-4007
1.A1.A1.D2  Diode, Switch 100V 75ma 04-4007
1.A1.A1.DS1 Not Used
1.A1.A1.DS2 Not Used
1.A1.A1.DS3 LED Green Rectangular 04-4028
1.ALALJ] Header, Dual 20 Pin 07-1135
1.A1,A1.MP1 Button , Light Gray W/Window (5) 07-2083
1.A1 A1.MP2 Button, Light Gray (16) 07-2103
1.,A1.A1.MP3 Button, Dark Gray 07-2104
1.A1.A1R1 Res, 100K, 1/4W 5% 02-2139
1.,A1.A1.R2  Res, 100K, 1/4W 5% 02-2139
1., A1, ALRN1 Res, Network 02-3007

TECHNICAL REFERENCE MANUAL

3-3



LIST OF REPLACEABLE PARTS

Control PCB Assembly Cont.

Ref. Des. Description Huntron
P/N
1.A1.A1.81-12 Switch (12) 074038
1.A1.A1.813  Switch, Green LED 07-4024
1.A1.A1.814  Switch, Red LED 07-4023
1.A1.A1.S15  Switch, Green LED 07-4024
1.A1.A1.S16  Switch, Green LED 07-4024
1.A1.A1.817  Switch, Yellow LED 07-4025
1.A1.A1.S18 Switch 07-4038
1.A1.A1.819 Switch 07-4038
1.,A1.A1.820 Switch 07-4038
1.A1.A1.821 Switch 07-4038
1.A1.A1.822  Switch 07-4038
1.A1.A1.U1  IC, 16 Key Encoder 05-5125
1.A1.A1.U2  IC, Quad Input NAND 05-5063
Scanner PCB Assembly
Ref. Des. Description Huntron
P/N
1.A2 *Scanner PCB Assembly 06-3063
1.A2.C1 Cap, .1uF 50V Mono Ceramic 03-3028
1.A2.C2 Cap, .1uF 50V Mono Ceramic 03-3028
1.A2.C3 Cap, 47uF 25v Tant. Radial 03-3096
1.A2.C4 Cap, .33uF Mono 03-3094
1.A2.C5 Cap, 10uF 25V Tant. Radial 03-3011
1.A2.C6 Not Used
1.A2.C7 Cap, . 1uF 50V Mono Ceramic 03-3028
1.A2.C8 Cap, 10uF 25V Tant. Radial 03-3011
1.A2]1 Header, 64 Pin 07-1265
1.A2.J2 Header, 64 Pin 07-1265
1.A2J3 Socket, 20 Pin 07-1268
1.A2.J4 Header, 2 Pin 07-1153
1.A2J5 Header, 4 Pin 07-1178
1.A2K1-64  Relay, 2 Form A W/Diode 07-4041
1.A2 K65 Relay, 1 Form C W/Diode 07-4040
34

HUNTRON DSI 700



LIST OF REPLACEABLE PARTS

Scanner PCB Assembly Cont.

Ref. Des. Description Huntron
P/N

1.A2. MP1 Washer, #4 Lock Star 07-3020
1.A2.MP2 Standoff, 1/2x1/4" 4/40 (6) 07-3046
1.A2.MP3 Screw, 4-40 x 3/8" Ph Phil W/Washer 07-3051
1.A2.MP4 Nut, 4-40 Hex 07-3052
1.A2 MP5 Screw, 2-56 x 1/2" Ph Phil (4) 07-3069
1.A2. MP6 Cable Tie, 4" 07-3089
1.A2.MP7 Standoff, 2-56 x 1/8" (4) 07-3091
1.A2.MP8 Latch (4) 07-1197
1.A2.MP9 Heat Sink 07-2080
1.A2.R1 Res, 100K 1/4W 5% 02-2139
1.A2.U1 IC, 32 Bit Shift Register 05-5045
1.A2.02 IC, 32 Bit Shift Register 05-5045
1.A2.U3 IC, 5V Regulator 05-5017
1.A2.U4 Cap, 10,000pF 03-3093
1.A2.U5 Cap, 10,000pF 03-3093
Interface PCB Assembly

Ref. Des. Description Huntron

P/N

1.A3 *Interface PCB Assembly 06-3072
1.A3.Bl Beeper 05-7003
1.A3.C1 Cap, 10uF 25V Tant. Radial 03-3011
1.A3.C2-12 Cap, .1uF 50V Mono Ceramic 03-3028
1.A3.C13 Cap, .33uF Mono Ceramic 03-3094
1.A3.J1 Header, Dual 20 Pin 07-1135
1.A3.J2 Header, 16 Pin 07-1272
1.A3.J3 Header, 3 Pin 07-1226
1.A3.P1 Header, Dual 20 Pin 07-1135
1.A3.P2 Header, Dual 20 Pin 07-1135
1.A3.P3 Header, 6 Pin 07-1273
1.A3.Q1 Transistor, FET 05-5100

TECHNICAL REFERENCE MANUAL 35



LIST OF REPLACEABLE PARTS

Interface PCB Assembly Cont.

Ref. Des. Description Huntron
P/N
1.A3R1 Res, 5.6K 1/4W 5% 02-2343
1.A3R2 Trim Pot 10K 1/5W 20% Mini 02-1044
1.A3.R3 Res, 1K 1/4W 5% 02-2125
1.A3.RN1 Resistor Network 10K x 7 02-3009
1.A3.RN2 Resistor Network 100K x 9 02-3003
1.,A3.U1 IC, Octal Inverter 05-5068
1.A3.02 IC, Octal Flip-Flop 05-5070
1.,A3.U3 IC, Tran. Array 05-5072
1.A3.U4 IC, Octal Flip-Flop 05-5070
1.A3.U5 IC, Tran. Array 05-5072
1.A3.U6 IC, Dual J/K Flip-Flop 05-5049
1.A3.U7 IC, Tran. Array 05-5072
1.A3.U8 I1C, Octal Inverter 05-5068
1.A3.U9 IC, Octal Tranceiver 05-5092
1.,A3.U10 IC, Quad 2-Input OR 05-5117
1.A3.Ul1 1C, Quad 2-Input OR 05-5117
1.A3.U12 IC, Quad Input Nand 05-5063
1.A3.U13 1C, Hex Inverter 05-5046
1.A3.U14 1C, Hex Inverter 05-5046
Main PCB Assembly
Ref. Des. Description Huntron
P/N
1.A4 *Main PCB Assembly All Models
2.A4 *Main PCB Assembly 60Hz Superceded by 06-3074 (4.A4)
3.A4 *Main PCB Assembly 50Hz Superceded by 06-3074 (4.A4)
4.A4 *Main PCB Assembly 50-60Hz Comb. 06-3074
1.A4.C1 Cap, 22pF Mono 03-3095
1.A4.C2 Cap, 22pF Mono 03-3095
1.A4.C3-4 Not Used
1.A4.C5 Cap, 47pF 50V Mono Ceramic 03-3083
1.A4.C6 Cap, 47pF 50V Mono Ceramic 03-3083
1.A4.C7 Cap, 10uF 25V Tant Radial 03-3011
1.A4.C8 Cap, 10uF 25V Tant Radial 03-3011
1.A4.C9-11  Not Used
1.A4.C12 Cap, .1uF 50V Mono Ceramic 03-3028
3-6

HUNTRON DSI 700



LIST OF REPLACEABLE PARTS

Main PCB Assembly Cont.

Ref. Des. Description Huntron
P/N

1.A4.C14-19 Cap, .1uF 50V Mono Ceramic 03-3028
1.A4.C20-29 Not Used

1.A4.C30 Cap, . luF 50V Mono Ceramic 03-3028
1.A4 C31 Cap, . 1uF 50V Mono Ceramic 03-3028
1.A4.C32-35 Not Used

1.A4.C36 Cap, . 1uF 50V Mono Ceramic 03-3028
1.A4.C37 Cap, . luF 50V Mono Ceramic 03-3028
1.A4.C38 Cap, 10uF 25V Tant Radial 03-3011
1.A4.C39 Cap, . 1uF 50V Mono Ceramic 03-3028
1.A4.C40 Cap, .1uF 50V Mono Ceramic 03-3028
1.A4.C41 Cap, 10uF 25V Tant Radial 03-3011
1.A4.C42 Cap, .33uF Mono 03-3094
1.A4.C43 Cap, 10uF 25V Tant Radial 03-3011
1.A4.CH4 Cap, .1uF 50V Mono Ceramic 03-3028
1.A4.C45 Cap, 10uF 25V Tant Radial 03-3011
1.A4.C46 Cap, . 1uF 50V Mono Ceramic 03-3028
1.A4.C47 Not Used

1.A4.C48 Cap, .001uF 100V 5% Met.Poly 03-3059
1.A4D14 Diode, Switch 04-4007
1.A4]1 Socket, 20 Pin Dual Row 07-1268
1.A4.J2 Not Used

1.A4]3 Socket, 20 Pin Dual Row 07-1268
1.A4.34 Socket, 15 Pin 3 Row 07-1269
1.A4J5 Jack, Audio 07-1267
1.A4J6 Socket, 6 Pin 07-1179
1.A4.J7 Header, 2 Pin 07-1153
1.A4JP1 Header, 3 Pin 07-1226
1.A4.JP2 Header, 3 Pin 07-1226
1.A4.JP3 Header, 3 Pin 07-1226
1.A4K1 Relay, Sip Reed 1 Form A 5V W/Diode 07-4033
1.A4K2 Relay, 1 Form C W/Diode 07-4040
1.A4 MP! Rubber Gasket, 3/8 x 3/8 x 1/8 (2) 01-1218
1.A4 MP2 Standoff, 1/2 x 1/4" 4-40 (6) 07-3046
1.A4 MP3 Standoff, 1/8" 4-40 07-3077
1.A4 MP4 Socket, 2 Pin (3) 07-1192
1.A4 MP5 Socket, IC, 28 Pin (2) 07-1224
1.A4 MP6 Socket, IC, 40 Pin 07-1225
1.A4 MP7 Heat Sink 07-2091

TECHNICAL REFERENCE MANUAL



LIST OF REPLACEABLE PARTS

Main PCB Assembly Cont.
Ref. Des. Description Huntron
P/N
1.A4P1 Header, Dual 20 Pin 07-1135
1.A4.Q1 Transistor, PNP 05-5039
1.A4.Q2 Transistor, FET 05-5130
1.A4.Q3 Transistor, FET 05-5130
1.A4R1 Res, 20M 1/4W 5% 02-2340
1.A4R2 Res, 1K 1/4W 5% 02-2125
1.A4R3 Not Used
1.A4R4 Res, 10M 1/4W 1% 02-2328
1.A4R5 Res, 402K 1/4W 1% 02-2354
1.A4.R6 Res, 10M 1/4W 1% 02-2328
1.A4R7 Res, 402K 1/4W .1% 02-2354
1.A4R8-13  Not Used
1.A4R14 Res, 15.0K 1/4W .1% 02-2265
1.A4R15 Res, 10.0K 1/4W .1% 02-2251
1.A4R16 Res, 7.50K 1/4W .1% 02-2263
1.A4R17 Res, 2.49K 1/4W 1% 02-2261
1.A4RI18 Res, 10.0 Ohm 1/4W 1% 02-2262
1.A4R19 Res, 6.04K 1/4W .1% 02-2264
1.A4R20-21 Not Used
1.A4R22 Res, 1.6K 1/4W 5% 02-2135
1.A4 R23-37 Not Used
1.A4R38 Res, 10K 1/4W 5% 02-2137
1.A4R39 Res, 10K 1/4W 5% 02-2137
1.A4R40-43 Res, 100K 1/4W 5% 02-2139
1.A4 R44 Res, 1K 1/4W 5% 02-2125
1.A4 R45 Res, 100K 1/4W 5% 02-2139
1.A4 R46 Not Used
1.A4.R47 Res, 16 Ohm 1/4W 5% 02-2352
1.A4 RN1 Resistor Network 100K x 9 02-2003
1.A4. RN2 Resistor Network 100K x 9 02-2003
1.A4 RN3 Resistor Network 10K x 7 02-2009
1.A4. 81 Switch 074038
1.A4.U1 IC, 17 Stage Oscillator/Divider 05-5123
1.A4.U2 1C, Power Supply Monitor W/Reset 05-5121
1.A4.U3 IC, Octal Inverter 05-5068
1.A4.U4 Not Used
1.A4.U5 IC, 8 Bit Micro 05-5059
3-8

HUNTRON DS! 700



LIST OF REPLACEABLE PARTS

Main PCB Assembly Cont.

Ref. Des. Description Huntron
P/N

1.A4.U6 IC, Octal Latch 05-5057
1.A4.U7 Eprom (Programmed) 06-5033
1.A4.U8 IC, SRAM 05-6011
1.A4.U9 IC, 1 of 8 Decoder 05-5093
1.A4.U10 IC, Octal Inverter 05-5068
1.A4U11-14 Not Used

1.A4.U15 IC, Op Amp 05-5021
1.A4U16-18 Not Used

1.A4.U19 IC, Dual Op Amp 05-5047
1.A4.020 IC, Dual Analog Switch 05-5051
1.A4.U21 IC, 8 Bit A/D Converter 05-5053
1.A4.022 Not Used

1.A4023 IC, -5V Linear Volt Reg. 05-5120
1.A4U24 IC, Neg. Variable Reg. 05-5073
2.A4X1 Crystal, 2.98295 MHz (50 Hz) 05-7004
3.A4X1 Crystal, 3.579545 MHz (60 Hz) 05-7002
1.A4X2 Crystal, 11 MHz 05-7000

TECHNICAL REFERENCE MANUAL

3-9



LIST OF REPLACEABLE PARTS

Notes:

3-10 HUNTRON DSI 700



SECTION 4

SCHEMATIC DIAGRAMS
4-1. SCHEMATICS
The following list shows the component location diagrams and schematic diagrams for the
DSI 700.
Figure # Title Page
4-1 Interface PCB Component Locations . . . . . ... ... ... ........ 4-2
4-2 Interface PCB Schematic . . . . .. .. ... ... .. ... .. ..., .. 4.3
4-3 Main PCB Component Locations . . . . . . . ... .. ... ... ...... 4-4
4-4 Main PCB Schematic (Sheet10f2) . . . . . .. .. ... ... .. ...... 4-5
4-5 Main PCB Schematic (Sheet2o0f2) . ... . ... ... ... .. ... ... 4-6
4-6 Scanner PCB Component Locations . . . . . . .. ... .. . ..... ... 4-7
4-7 Scanner PCB Schematic . . . . . .. ... .. ... ... ... ... .. .. 4-8
4-8 Front Control PCB Component Locations . . . . . . ... .. ... ... .. 4-9
4-9 Front Control PCB Schematic. . . . . . . ... ... ... .. .. ... .. 4-10
4-10 DSI 700 to PC Interface Cable Diagram . . . . .. .. ... ... ... . 4-11

TECHNICAL REFERENCE MANUAL



SCHEMATIC DIAGRAMS

r 1
Ow 2e
5
o
&
TP =
(8]
:] [
u3 &
[
c3 o
i 2
U g 3
—.D
a1
— . c13 RI
po (C>1992 HUNTRON INSTRUMENTS, INC.
PCB:  @7-7727 REV A
11 10 ASSY! ©86-3872 MADE IN U.S.A.
c2
O U O
cs 2
U H ul E
Ll
ule u
us CHU
20 1
ca C9O i 1
u13
u? ] ull cie
T ua m
RN2 16
1
ute
570 .
a
cé 2
uo
O L hE
us
(T 1] !
33 L (S -
1 =
cs 1213 —*+ 1 2
20 Pl 11 P3 x
E O, e
R
ve : 1 - .
L _ L _I
Figure 4-1. Interface PCB Component Locations.
4-2

HUNTRON DSI 700



SCHEMATIC DIAGRAMS

2 Za b P9 22 33 zs {: .-.E
z‘;ﬁq} g‘}‘_q; 5 ‘ﬁb :’3130 % é‘E%D :'g “g
3 H 3 H 4 2
g g i 3 3 ¢ i

.
(14
0
T4CHA0
by
S ﬁ%
ke
v
(2]
Dl
Tt

S ; !
’ : i i
E== S EANEENTT] T ¢ 3
.LIU]’L{) &
i :{TU ]
Fe— IHT
17 i B35
-
SAH
LU
i aY 7 it 1
- 5oes i =
s
239312138 F— 4 9 4
T -
LW
W
L |
1 =
g r"_
—

il
23232352 S

TSI

o ey232258 o5 R

i}

e
L.

J3 ~ SHORT PINS | & 2 (DEFAULT).

UNLESS DTHERWISE SPECIFIED

] 2
o d e
2% R 3R
] Ep :
X X

NOTES:

SALAG2L

Ui
Tawcod

280
LETPaAL

v
vue
L] s
.
=
Pt

INEENYRNSE.

Figure 4-2. Interface PCB Schematic.

TECHNICAL REFERENCE MANUAL 4-3



SCHEMATIC DIAGRAMS

<C) 1994 HUNTRON INSTRUMENTS, INC.

PCB:  @7-7726 REV B MADE IN U.S.A
aSSy:  86-3073
Pl
1 e O D
N
M Qz
P o = (-
|1 o D Y o —
BRLEe ;
2| _jr % cas «
ce »1
ase[_Js12
u?_EPROM u9 sl

=

cre

P

n
9 o
n
5
[X)

res T

- —
_! - N NP T
r- L WD e 0
R4l S 3 8
O g TR
PARALLEL u8
INTERF ACE
34 13
11
le ciz
O w
1
1]
cis
20 1
———
O RN3 RN
—_— ule us ce
T O DD
[ ) % 0 ¥ OCB
L_Je cis crafl h
00T
SWITCH ue 2
St 5 RrR9 C‘O X3
78 ca?
a3 B RE2
2 . o1 39
38
RESET R2
R
w O x1
i 3
$e 2 i [
o
kN ! % P4
O O ! 18 - —

Figure 4-3. Main PCB Component Locations.

‘O (03]

CDeee
7\ues
[ S

CDeaa

mgun (e

Dc4a
axexoex

39

wocae C - Jes
= YL
=)

+

/N2

QO

HUNTRON DS! 700



SCHEMATIC DIAGRAMS

e

I
ey
pe
"

83832883

( 1 ek

.....

2
TIYIIRIFRILIIL . !
L

IRERVRAE]
i§ T

)
E:

3 4r4sa3my {60 W)
a3
? ‘

H

208
|

e
2 omruns (58 Hr)
" {60 W,

H oty
: -
| B ) I
- mﬂ——‘_ TR 55
g e 3

Figure 4-4. Main PCB Schematic (Sheet 1 of 2).

UNLESS QOTHERWISE SPECIFIED
ALL RESISTORS ARE [/4W. 57

[}

NOTES:

TECHNICAL REFERENCE MANUAL



SCHEMATIC DIAGRAMS

‘%170 ‘Mb/) 39V SHOLSIS3Y 1V

a3131934S 3SIMYIHIO SSINN WM.P_H_Z

*& 91 ot
cry YD N
- _ T
—
€d 08YDE 1DVIAIINL OL m]wu o ] o et
T 2

P
L

Az1-

,

o0l H
ord
4 T
a0
anor b Téed ==
8ed> + 33IA
L -3 haidad ano “
n/e anNo
- _|:x 2 -~
AR Lvwan 2% LI
CImT— z—{ souvis A N
THIVIY b e r
350 HA- [
] n ex
*
cEo A ~M
1 438§ O bt HATET x o
’
040 vy T
1
it ATGHISSY 1My 1NOW

] \.w
AT
(133440,

v

vity 31
s

NWI_ £
T 433IMS OL EVIJ._ [

10190NA
co
© |
cs va | e
lllllllllllllllllll .
1 11385 0L DHNV.I'I!G_J
109NA g
20
Av138
NIV

1 3ms o joln
x

HUNTRON DSI 700

Figure 4-5. Main PCB Schematic (Sheet 2 of 2).




SCHEMATIC DIAGRAMS

5

00
s

O

=
i
~N

TETROR
SR

t

OO

il

i
R

x x
= = '\{ =l an— e
=" = = Lo o)
4 - 5

L= =T RO o T =
{ 5 3

O
TR RO ]

et x 5
4 b
L
ksl [y
K
AT
b

(L1991 HUNTRON INSTRUMENTS, INC,
PCB: @7-7719 REV B
ASSY: B6-3863

O MADE 1N U.S.A.

O

Figure 4-6. Scanner PCB Component Locations.

O O

Je

N

] , |

[

TECHNICAL REFERENCE MANUAL



SCHEMATIC DIAGRAMS

]

A313123dS 3ISIMA3HI0 SSAWNN

' sEiibzmtiggacaesnststiin sy
s yi:sd
| o
¥

Figure 4-7. Scanner PCB Schematic.

HUNTRON DSI 700



SCHEMATIC DIAGRAMS

[~ ¢C>1991 HUNTRON, INC.
PCB: O

9

@7-7718 REV B

ASSY! 06-3062

L ona on-
il 130
<o s
Vi w
2 wowm EACTT
z
w - —
W oan- o
mS o
w @

| ERC-T VI N Y]

‘20
l
119
3

S

1

c3
A
2imm = -

i

Ul
=y

crn R

RED

@
~

v

)
w

Mmoo~ o -

L] sl

v o T 0

e - oo~

[]s

+ 0N o O
O~ ™M~

[1s0]

T 0 w0

3
)

34
Se

1 YEL
3517
A
u2

12

S16

34
Se

12

$15

4
3
2

|

Figure 4-8. Front Control PCB Component Locations.

TECHNICAL REFERENCE MANUAL



SCHEMATIC DIAGRAMS

O0JHYL ] £
ON

n
QOJHY L

IN

IN

jojo el

axvpg 32V 4d3iNI
oL

GEE] N .
* MY SHOLSISIY
J—
91 [Z Sewl® ©  GIAS 022 INY
°sd 030413345 ISIAFIHLO SSIWNN .S 7 | (N
g1 & o.«&‘ S OIMS 022 [E]
Ssa
v [T 9 v G LIAS 022 N
¥Sq
€1 [ 8 r\v\x 022 INE]
€50
Al 3 wRK_A S vIMS 022 INY
2s0
[} T o.«u\_A S E£1MS a2z INY
1sa
[62 oN
6T oN .wo0.
L L LNI¥G,
s 510%
A 2es 2T eg— VE
€ A 000HPYL 12s
I
SN P
20/ L.
T2 vE] T2 v E
20N ET als A
anto oot 3AvdWDD Nvog |
20A 27 & - - - -
4N10°0 20 a 21 v et els e
AND) |5} VIENT PIENT
aNol z [ 2=l - 6.
m S~ T w2 v E T2 vE
anof Tt -y ofs &S
-S. ~8.-
30/ 2T €1 o—— ro ol
2't [ 2V —mwr— vt
va[®T 27 s cs
Q] ~ by . oL _
a 2't = v'C 2’ —ur— Vv'E
€q v [ai 2s Is
2a{ 9 51 °
a8 57| @
oafov ragihd
"

HUNTRON DSI 700

4-9. Front Control PCB Schematic.

Figure

4-10



SCHEMATIC DIAGRAMS

19
ajlnmlalo|—|—|<|ol~am|olsiu]v
N ') o [ (S ([ Bt ol B PNV
Sio
o}
z
O_é—(\.lmﬂ‘LDLOI\OOCDO—(‘Umﬁ'LO
>
W
=
L
[ad
wo
—awn
<o
s>
D
-T
)
(\I\
o0
o= E[ \g !
@
o
}_
O
oD
a
z
S
O
o o
L
B H
bl -
—wd QO
m___
<T
= Sn
B w
o 4
W<
M=
>—
-z -
n=m
=
< O
Sw
s "o

Figure 4-10. DSI 700 to PC interface Cable Diagram.

TECHNICAL REFERENCE MANUAL 4-1



SCHEMATIC DIAGRAMS

Notes:

4-12 HUNTRON DSI 700



